1930

2740"

M

2930

O O 0 0 O 0
|/
S
S
S
O O 0 0O g p
»)
_ﬁj_ 1’70

1 1~
130

I

B-B(1:5)
2407

186"

O

Wsm. | Jluct Ne gokym.
Paspab.

[lpos.

T. KOHTP.

[71. KoHCTP.

H. KoHTp.

YrB.

A(1:5)

4 55 (1:2)

U*IL —im

loan.
r.CB.
LJAB.
CllA.
r.CB.

CAH.

oo o

N
o N

Hara
08.1222
08.1222
08.1222

08.12.22

08.12.22

1. Obuyne gonyckn no FOCT 30893.1-2002 - v.
2. * Paamepsi 47151 CripaBoK.

PT-124360-H2000-W3000-PF

Jnr. Macca (kr) Macuwrab
Orpaxgerme 1T (tnn 024)
B2000°1LI2930 ¢ gprianiem. 276.5 1:20
Crornb 80x80.
Jlnct Jlncros 1
(495) 228-0412
www.glavzabor.ru

@opmar A3

Qaiin: PT-124360-H2000-W3000-PF



% ;%: § ObosHaveHme Hanwerosarne é /‘7,'{;7,,”;2-
S
LokymeHTayms
A4 PT-124360-H2000-W3000-PFCh CO0opoYHbIN YepTex
Lerann
A 1 | 3PF-5519209-080-080-1,9-H2020-R | Cronb B2020 u3 tpybbi 1
80x80x1,9 ¢ npsimoyrosibHbIM
naryem 44 [T orpaxgeHus
B2000
A 2 | FKL-0013-PT Knunica [-obpasHasi 4
A 3 | PTS-24360-H2000-W3000 Cexkuynsa 1T (tun 024)
B19001L/2740
A 4 | ZGL-0003-080-080 3arnyiwka nnactukoBas 80x80
A4 5 | ZGL-0404 3arnywka -obpasHas 4
CraHgapTHble usgenvs
6 | apr. 603-M8x20 Gonr M8x20 DIN 603
7 | apr. 933-M8x25 bonr ¢ wecturparHHov
ronoskov M8x25 DIN 933
8 | apt. 934-M8 lavika wectnrparHas M8 DIN 4
934
9 | apr. 125-M8 Lllaviba nnockass M8 DIN 125 8
PT-124360-H2000-W3000-PF
Ysm. Jlnct Ne gokym. llogn. | fata
Paspab. r.CB. 08.12.22 Jinr. Jluct Jlucros
Ipos. LAB. 08.12.22 Orpaxgerne 1T (tun 024) 1
In. korctp.| [.C.B. 08.1222 B20007%(L2930 ¢ gpraHyem.
A koHTp Cron6 80x80. (495) 2280412
www.glavzabor.ru

yrB.

CAH.

08.12.22

Gopmar A4

Qaiin: PT-124360-H2000-W3000-PF



	Лист1
	Чертежный вид1
	Местный вид А (1 : 5)
	Разрез Б-Б
	Разрез В-В

	SP1

